@SEAGATE

LYVE
Mobile Mount

QUICK START GUIDE



Part List

777
T

Shoulder screw M3-0.5 x L16 (5.8,1.0), M3-0.5 x L7 (5.8,1.0), M#6-0.1 x L20 (10.0,6),
8 mm x M6-1.0 x phillips screw (6x) phillips screw (10x) hex socket cap screw (6x)
47+113 (16.0,6.3) (x1)

ST

Cable holder cover (5x)



Setup Requirements

Lyve Mobile Security

Lyve Mobile offers two ways for project admins to manage how end users securely access Lyve
Mobile storage devices:

Lyve Portal Identity

End users authorize client computers to access Lyve Mobile devices using their Lyve Management
Portal credentials. Requires an internet connection for initial setup and periodic reauthorization
through Lyve Management Portal.

Lyve Token Security

End users are provided with Lyve Token files that can be installed on certified client computers and
Lyve Mobile Padlock devices. Once configured, computers/Padlock devices unlocking Lyve Mobile
devices do not require continual access to Lyve Management Portal or the internet.

For details on setting up security, go to
www.seagate.com/lyve-security.




Mounting slots

Lifting hazard. The following instructions include moving and installing heavy
equipment. To avoid injury, always use proper lifting techniques.

C AUTI O N Do not attempt to lift or assemble Lyve Mobile Mount with compatible devices inserted.

Before installing Lyve Mobile Array, ensure that Lyve Mobile Mount is securely fixed to the vehicle to
avoid excessive motion. Attach Lyve Mobile Mount to the appropriate surface by inserting M6-0.1 x
L20 (10.0,6) socket cap screws into any of the M6 tap holes on the bottom of the mount. Use at least
four screws to secure the mount (two at the front of the mount, and two at the back).

Recommended clearance zones

970 mm

Lyve Mobile Array Lyve Mobile Mount



Connecting Lyve Mobile Mounts Vertically

Stack two Lyve Mobile Mounts and align the six attachment holes on the top and bottom of the
mounts. Use four M3-0.5 x L16 (5.8,1.0) screws to attach the two mounts.

Connecting Lyve Mobile Mounts Horizontally

Place two Lyve Mobile Mounts side-by-side and align the eight attachment holes on the sides of the
mounts. Use eight M3-0.5 x L7 (5.8,1.0) screws to attach the two mounts.




Remove guide pins

Guide pins for use with a PCle Adapter are preinstalled on Lyve Mobile Mount. If you are connecting
a computer directly to Lyve Mobile Array’s host port, you’ll need to remove the guide pins. Use a
6mm hex key wrench to unscrew the guide pins from the bottom of Lyve Mobile Mount.

5 R
| | % -,
-4 . ~

(Optional) Route cables through the front of
Lyve Mobile Mount

You can route cables through the front of Lyve Mobile Mount using the internal channel that runs
the length of the mount. Five plastic cable holder covers are provided to secure the cables in the

channel. To attach a cover, insert the rounded tab into a notch on the right side of the channel.
Snap the hooked release tab into the corresponding slot on the left of the channel.




Installation

Release handle
A Grasp the lock catch on the front of Lyve Mobile Mount and pull it forward to release the front lock bezel.

B Lower the front lock bezel to open Lyve Mobile Mount.

Insert device

Insert the device with the ports facing the back of Lyve Mobile Mount. Slide the device toward the back
of the mount.

A B

CAUTION

Lifting hazard. To avoid injury, use
proper lifting techniques when removing
Lyve Mobile Array from its packaging
and installing it in Lyve Mobile Mount.

Lyve Mobile Array weight: 27.8 Ib/12.6 kg




Lock device in place

Raise the front lock bezel until it snaps in place.

Secure lock catch

The front lock bezel and lock catch can be secured with a padlock®. Insert the padlock shackle
through the openings to the right or left of the catch plate.

@SEAGATE

Padlock not included.



Eﬁk www.seagate.com/lyve-mount-manual

N

o www.seagate.com/support/mobile-mount




FCC DECLARATION OF CONFORMANCE

This device complies with Part 15 of the FCC Rules. Operation is subject to the following two conditions: (1) this device may not cause harmful interference, and (2) this device
must accept any interference received, including interference that may cause undesired operation.

CLASS B

This equipment has been tested and found to comply with the limits for a Class B digital device, pursuant to Part 15 of the FCC Rules. These limits are designed to provide
reasonable protection against harmful interference in residential installation. This equipment generates, uses, and can radiate radio frequency energy and, if not installed and
used in accordance with the instructions, may cause harmful interference to radio communications.

However, there is no guarantee that interference will not occur in a particular installation. If this equipment does cause harmful interference to radio or television reception,
which can be determined by turning the equipment off and on, the user is encouraged to try to correct the interference by one or more of the following measures:

Reorient or relocate the receiving antenna.
Increase the separation between the equipment and receiver.

Consult the dealer or an experienced radio/TV technician for help.

Connect the equipment into an outlet on a circuit different from that to which the receiver is connected.

CAUTION: Any changes or modifications made to this equipment may void the user’s authority to operate this equipment.

China RoHS 2 table
China RoHS 2 refers to the Ministry of Industry and Information Technology Order No. 32, effective July 1, 2016, titled
Management Methods for the Restriction of the Use of Hazardous Substances in Electrical and Electronic Products. To

20 comply with China RoHS 2, we determined this product’s Environmental Protection Use Period (EPUP) to be 20 years in

accordance with the Marking for the Restricted Use of Hazardous Substances in Electronic and Electrical Products, SJT
11364-2014.

S ROHS 2 21520164 7 A 1 BEEMANTUAEENBIE 325 “BNRT - SIRSIEAEENREERNL . HTHATERHS 2600

ER, RIVRE “BFRS=REENRMHERITR" (SIT 11364-2014) BEATREVIFREREA (EPUP) 720 &,

Taiwan RoHS table

Taiwan RoHS refers to the Taiwan Bureau of

and Inspection’s (BSMI’s)

in standard CNS 15663,

Guidance to reduction of the restricted chemical substances in electrical and electronic equipment. Beginning on January 1, 2018,
Seagate products must comply with the “Marking of presence” requirements in Section 5 of CNS 15663. This product is Taiwan

RoHS compliant.

The following table meets the Section 5 “Marking of presence” requirements.
A% RoHS RIEAZIRER RIS/ (BSMI) B2 CNS 15663 BXRMAABF BRRFRACANELRS| - 201851518
Seagate EfuAME CNS 15663 % 5 81 [AHRT) BR - FERFAEE RoHS

O: RNZEENRAZI AR RS BI97E GB/T 26572 RIS ER LU T,

0: Indicates that the hazardous substance contained in all of the homogeneous materials for this part is below the limit requirement of GB/T26572.

X REZAENREMEZEMFE IR TS EBi GB/T 26572 MEHREZR K.

X: Indicates that the hazardous substance contained in at least one of the homogeneous materials used for this part is above the limit
requirement of GB/T26572.

FAE S H MEHERR BRo
HEMR Hazardous Substances TERREESH AT X
ER{-ZFR # B B NN ZREE | ZRIFH ERETHE  HRETIRESm A% : SMSE0O] Product Name: Lyve Mobile Mount, Model: SMSE001
Part "3’29 (P) (Hg) (4 () (PBB) (PBDE) R FA4E R LBt Restricted Substance and its chemical symbol
gﬁﬁﬁ&iﬂmm X o | o o o o B % % % AESE | ZAEE | BA_%N
R (R Unit Py | g | (9 (o) (PBB) (PBDE)
Povier Supply (f poviec) x| ©°|¢° ° ° ° gﬁeﬁ%ﬁf\“ FIEH -l oo o o o
EOBL (REH) = =
Iterface cable (f proviec) o I ° ° ° ;ﬁgﬁjﬁfﬁhi " -l o | o ) ) o
=4
ﬁﬂﬁmﬁuf o o o o o o {BHEH (R - o o o o o
Interface cable (if provided)
AFRAEKIE SJ/T 11364 BIELRH A
This table is prepared in accordance with the provisions of SJ/T 11364-2014 Other enclosure o o o o o o

ii% 2.“—" RIEZHR AMEAHRRE

&% 1. 0" FIEZERAVEZEA L SERBL AN L AR EEHE -
Note 1.“O” indicates that the percentage content of the restricted substance does not exceed the percentage of reference value of presence.

Note 2. “—" indicates that the restricted

tothe

COEREIF. V5ABHIRTY. COREIF. FERBTERAIZ_CZzBM L
TVWETH COEBNFDAPTLED I VRERIGEELTERAIN 2. %
EREEZISECT LA B E, RIMHAEICRH>TELLEDHRVZLTT
L,  VCCI—B

SEAGATE

= 3
\J
D33027
RoHS

© 2022 Seagate Technology LLC. All rights reserved. Seagate, Seagate Technology and the Spiral logo are registered trademarks of Seagate Technology LLC in the United
States and/or other countries. Lyve is either a trademark or registered trademark of Seagate Technology LLC or one of its affiliated companies in the United States and/

or other countries. The PCle word mark and/or PCIExpress design mark are registered trademarks and/or service marks of PCI-SIG. All other trademarks or registered
trademarks are the property of their respective owners. Complying with all applicable copyright laws is the responsibility of the user. Seagate reserves the right to change,

without notice, product offerings or specifications.

Seagate Technology LLC., 47488 Kato Road, Fremont, CA 94538 USA www.seagate.com

Seagate Technology NL B.V., Tupolevlaan 105, 1119 PA Schiphol-Rijk NL

Seagate Technology NL B.V. (UK Branch), Jubilee House, Globe Park, 3rd Ave, Marlow SL7 1EY, UK
Seagate Singapore International Headquarters Pte. Ltd., 90 Woodlands Avenue 7 Singapore 737911

PN: 203651700B 11/22

2036517008



